10.

11.
12.
13.
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3o THo Ao I-UF WY A% WEA, JIIYfa®l G&q d 0 W&l (7T FF
&), BUeX HIg TAT TYTYeaeht UX STgehdiar 3K 3fto THo 3o IY-UH Gl & Hlarzal
¥ 3UREET eIy a1 H1eHT §7: @ &1 AFA T8l 81
FuEw St Fig o aRadT B g G FA g Aed e TE T ST
|TEA T FART JHT STE
g9 797 gikaaT 7 o7 100 aglaswedia 797 §1 997-giiat 3 g&% 997 & i dalcis
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< S 9Al gl
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96. IqH UG Wafd, Iq |
(1) SHATHIET (2) STHALThI&N
(3) #H (4) ShH:
97. T WUIE Jg: Wafd, T | U Yok Juiifa’ 3fa ISeIum o1 |
(1) =T (2) TEHRH
(3) HHL (4) 7 Hey
98. WUl fafareteh wfaq |
(1) dFargHm (2) AFHATGEM , TFHATEHH
(3) YThArg™I (4) STRTUTRMM
99. 1% Sy 7 wafd |
(1) STReHM: (2) =If&omf:
(38) TEUH: (4) SIE:
100.99: wafd |
(1) STGEHERRIT: (2) TRHERIIL:
(3) TRITEHTHI: (4) hTSToRI:
*kk
30
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100

Time : 3 Hours
qHT : 3 gUS

Note: (1)

(2)

(3)

697 /Mimansa (iii)
Research Entrance Test-2023

No. of Questions : 100
Y91 skt €= : 100

Full Marks : 400
qurls : 400

This Question Booklet contains 100 objective questions (MCQs)
of which 50 Objective questions are based on components of
Research Methodology and 50 Objective questions are based
on concerned subject.

9 ULA-RTH H HA 100 TS 997 (THoHoFo) € |
ST 50 axfTe use <Y Ul & Huchl 93 SAEma 8
AR 50 IEfrse gs= defad favg ud &5 o onaa 2 |

Attempt as many questions as you can. Each question carries
4 (Four) marks. Zero mark will be awarded for each
unattempted question. There will be no negative marking for
wrong answer.

IA 99T B BA HIA BT JIH B oTaAT 3T HT Tob | IIh
U 4 (|X) SFhT &1 2 | e AT 99T H Ui A
BN | T 3cdY o [T bl SROMHS i el 3T S |

If more than one alternative answers of MCQs seem to
approximate the correct answer, choose the closest one.

i IS TSl & Teh § 39 Jehicdsh IOY el I &
e udid 8f, af Mehead 98l I < |

3 P.T.O.
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Ol1.

02.

03.

Which among the following is an example of open-source data analysis
software ?

freafafag & @ H9-91 SNua-ard STfhsl fIeauer dideday &1 U
I B 7

(1) SPSS (2) JASP
UHo o UHo THo @fo To THo Gio
(3) Graphpad Prism (4) SAS
meve Bem THo To THo

What are the conditions in which Type-II error occurs ?
a Hi=-d Refoar € BEH ee-1I e o= Bk 8 7
(1) The null hypothesis gets accepted even if it is false.

LA IREFHT ST B W 1 @i & S ol

(2) The null hypothesis gets rejected even if it is true.
T IREFT T BN W A I & S ol

(3) Both the null hypothesis as well as alternative hypothesis are
rejected.

T IR R Sehiede TR a1 STRIBR i SRl &

(4) The null hypothesis gets accepted even if it is true.

LA IRFEAT T 8 W A @i & e sl

Following are some steps used in research. Choose the appropriate
sequence of steps in completion of research work :

P T ITRT R S Al {B =0T FrAfared € | e HE @l QR H

# f =ee @ St w9 ge

(i) Literature survey
e qaET

(ii) Developing hypothesis
el i faeprd &HT

(iii Preparation of research design
STIEEN SAHHN TIR BT

(iv) Sampling plan
ferest  FrstT

(v) Hypothesis testing

QREEIHT TEeT
(1) (@), (iii), (iv), (i), (v) (2) (@), (iv), (ii), (i), (v)
(3) (@), (i), (ii), (iv), (v) (4) (@), (iv), (ii), (i), (v)

RET/23 697 /Mimansa (iii)
88. HHHME: YW U3 fohe ?
(1) eTerr e (2) TEATALONSl TH:
(3) AT SRS (4) U g SATR:
89. UHWI THhH ISRV wad |
(1) Tm: (2) SrEm:
(3) heToSINETIH (4) 9
90. ISd 39 hiq 43M: |f< ?
(1) T (2) =
(3) TF@N: 4) 8
91. TG AHRY faemm: siw: &: ?
(1) = (2) foremm
(3) TEATAEY (4)
92, THHARR: A |
(1) Soq (2) VRISl FRIeaRITH
(3) TEFRITH (4) URFEENR:
93. WEAcEye faufd: |
(1) qarn (2) fadrn
(3) fa= (4) 1Y
94. T=g YUIEE Jg: Wafd 7 ¥ U valeh Jonfa’ 3 Sereory |
(1) o= (2) fage
(3) FRITTH (4) T&H=
95. YIS | |
(1) 9=« (2) TS
(3) < (4) T

29 P.T.O.
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81. IYIATHTSAT |
(1) TIFY (2) dTEY

04. When the person lifts material that they have previously published

N N and passes it off as their own new work is known as :
(3) HHIET (4) Hh{UH
S HI3 AR AT Ued d THIMRIT & TS AHAT H AT & AR IH

82. sfmreeey &7d: | ST FU HE P ®T H UEJA BT 2, A IH b AT B

(1) TR (2) WHH (1) Mosaic Plagiarism (2) Accidental Plagiarism

(3) ECARIRRT (4) T Ao difefers A el difefeaes A
83 e | (3) Self-Plagiarism (4) Minimal Plagiarism

. ©-Hiefas A Skl EREACIE
(1) Tshfaem (2) fgfagm X
(3) %ﬂ%[%m\ (4) _tl'g”[%f%ll'{ 05. Match the Column-I with Column-II and choose correct option :

84. TEIYFHIU 9afq | e -1 ® ' I A A ol |8l fased g

(1) = chﬂq(-ﬁ) q Hcaq(-ﬁ = (2) qgﬁﬁ Column-I Column-II
(@) forpd (4) forett, sl = w1 w11
A. Explanatory research (i) Understanding causes and
85. A A W@'@W l consequences of phenomenon
(1) 7 ) Wf’@ﬁi ) AT STTHE gl & HRON SR GROME! & qer
) e (4) T HPI:, T TEPIC: B. Descriptive research (ii) Discover new phenomenon
86. STHSSIATCRIE Tafd | U STHAT T ge P @
(1) SYHERE: (2) SUHERES:, STHATY: o C. Exploratory research (iii) Describing existing phenomenon
(3) T 1 IUSHHE:, 7 A1 ITHEREA:  (4) SUSHATY: WWW ﬁv@mwaﬂﬁ
Code :
87. WM YAHRR: *: ? 7z
(1) e (2) ifaf: (1) A-(i), B-(iii), C-(i) (2) A-(), B-(ii), C-(ii)
(3) R (4) TS (3) A-(ii), B-(i), C-(iii) (4) A-(ii), B-(ii), C-(i)

28 5 P.T.O.
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06. Which of the following is not an appropriate tool for data analysis ? 73. NIARIAMY: & TR qaYH: 3TI@?L ?
Frafafed & & FF-a1 ser faduer $ e Sugaa 9w T8 B 7 (1) HAIEHHREH (2) TR
(i) SPSS (ii) MS-Excel (3) TSR (4) ¥ REMY |

THo Ulo THo TH THoUH o-TFd
2 ?
(iii) R (iv) Python 74. GUSQd¥ Tl ol ¢
. (1) eI (2) HeH
N T (3) Taywfaas: (4) e
(v) Windows
et 75. “To9 Youdn: e’ s A -
Code : (1) Tramfafe: (2) UREwEAtary:
) (3) 3ITgdfafy: (4) T
g
(1) Only (ii) (2) (ii) and (iii) 76. ITHR: 3fd I: .........
Pl (i) (i) & (i) (1) dfrhEe: (2) difie:
(3) %@ (4) ATES:
(3) (i) and (iv) (4) Only (v)
(i) 3 (iv) A (v) 77. AEFAEEEEE THO |
(1) fergm (2) W

07. In an experiment conducted on goats, the following were measured (3) HHIET (4) ﬁﬁfz
on each animal in the study : Sex, weight (in kg) and birth order. The
scale of measurement of these variables are : 78. <A 3 wgEne: |

. . . 1 Fiﬂlltl 2) TIH
FHAT g¥ FT T T AT H, TIE H TS oHdaX U MErad &l :3; ot :4; Frmte
qOT = c A, g (FRTe H) SN &9 B | g9 | % HiIA H 9y
AT 79. fa&d: 3T |
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio (1) SIfRE (2) <goiATEt

A, U, hih hitieh, ST, ST (3) e T SAgWlQ: W F  (4) ERE
(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal 80. IHRHS Treyd Tl |

i, ST, ST e, I, P (1) Fao (2) Wt

(3) THafa=mal (4) fod

6 27 P.T.O.
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66. IELEAT aad - 08. Which among the following is not an example of primary data ?
(1) HIeHhI: (2) I Frefafed & @ @-a1 oafis offews &1 e 98t 7
) 1 : ) i : (1) Data collected through surveys
67. ‘T sTgdSjela scadl s e foRmom - RO % AW § THE A
(1) &K (2) EEmE (2) Data collected through interviews
(3) emed: (4) B AR & W | TR SAHs
Can -, (3) Data collected from experiments
68. dlcl{ Adel<d gdA wafd - <
. T UHR SThe
(1) oTgafafe: (2) fafamfafy: '
(3) (4) Frmfafa: (4) Data collected from national census reports
T SOMT e § Thia Sfidhs
69. T Hd HHTVT YT -
(1) ﬁﬁ:ﬁ: (2) IE 09. Kurtosis of a standard normal distribution is :
(3) hUNSH (4) TaEE U HIEH TAERE RO @ ggEal ©
70. T T fREfa (1) Zero (2) Three
' g i
(1) Hf (2) = I\
(3) feim (4) FRUMH (3) Two (4) One
AN N a‘ QEB

71. ‘HEET WS SFEd -

10. A subset that is chosen from population is known as :

(1) ‘wiemr: (2) ‘H =’
(3) T e (4) T Uh IT9g=d T Uk S § @ gAl Sl 8, Heddl ©
) ) (1) Parameter (2) Variable
72. ‘AHEE — T I - e W
(1) AR (2) AR (3) Sample (4) Statistic
(3) RISV (4) HHERTE | yferest quest

26 7 P.T.O.



RET/23

11.

12.

697/Mimansa (iii)

A Which of the following is not applied in research involving qualitative

variables ?

Frefafed § @ & Iomes =11 6l Mied #wR ad AgEa §OugE
&l 2rar 8 7

(1) Proportion (2) Diagram
SRLIN] SIReC]

(3) Odds ratio (4) Mean
EEEECRIR] areg

Read the following statements and choose true statement(s) :
Frfaiad ®a=l & 98¢ 3R §F HUT A

(a) Independent variables are unknown variables.

e T ST =X &
(b) Dependent variables are unknown variables.
A =X ST =R 2

(c) Research decisions are made on dependent variables.

STIEEN o i o W B/ 9 2
Code:
EE\E :
(1) Only (a) (2) (a) and (b)
3 (a) (a) & (b)
(3) (b) and (c) (4) (a) and (c)
(b) X () (a) AR (0)

RET/23

59.

60.

61.

62.

63.

64.

65.

Yehd: ISTRLI |
(1) dr:
(3) ot

(2)

697 /Mimansa (iii)

Hreltsh:

(4) TSR ST STETI: T FH

T A1 T I ohAd I TSI S99 3 SQeLuM 3T |

(1) Soa™
(3) HHIL:
CIURCIERISCI
(1) ST
(3) feramm:

dv{Ul‘ldHchl{chlchIS’ﬁT qafd |
(1) SR
(3) HIg-ThIS &l

REEISER 2L
(1) Wordten:
(3) SRIUTaRIN:
qY: Hfdae: ?
(1) Tfas:
(3) Tehiaw:
3T SRR 7 |
(1) F&A=ER
(3) wfqu:

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

Eere=ares|
q ey

ER LS CIEAERA
H{OTThI&T

fgfau:

31dA:
fat:

P.T.O.
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52.

53.

54.

55.

56.

57.

58.

(1) & (2) &iRgs:
(3) efgrR: (4) I

(1) ws= (2) TR

(3) Hafase (4) =S
AfTheehdT™ Hedl hidfaen Jafd -

(1) fefaen (2) dafaHE

(3) =gferen (4) eI
TEH-IOTHATOT ARTHTHTAS S o STTd: 7

(1) gen (2) ARSI AE
(3) ARTH=IUTHHIE] (4) dRHA

TEIIHSOTET JUARTEe: e TR 2

(1) & (2) fergH
(3) drRHA (4) TR

NS

o€ Pl Afd UM, &d =M ST Jae S99 .., |

(1) o (2) STER:

(3) Hfa: (4) SEmfaf:
STTEETS T |

(1) TeTeTq (2) dR:

(3) STIHMH (4) Agmta:

HHATE I Y |
(1) forpet (2) s, forsgelt =

(3) v (4) = v, 7 fad)

24
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13. The sampling method in which after random start, every 'kth' individual

is selecting from the population list is known as :

UF IEfes® ARH & IR SIdE gl & s kAl @At & =g
HIA At "fcrerge & g o

(1) Simple random sampling
M AE8S Ticeas

(2) Systematic sampling
PHES, Sfrads

(3) Stratified sampling
ISMENEEINCER]

(4) Cluster sampling

eS8  Uier= =

14. In stratified random sampling, how the strata within the population

are decided ?

Thd agfees dfaad & sHEe & @ & Fgiver $8 B s
g7
(1) Randomly
giefesd w9 49
(2) Based on specific characteristics of population
S % faferee [EQare T e
(3) Using a pre-defined pattern
gg-MaiRa e ® ST F
(4) Using geographical proximity
AR FHOAT & STER %

9 P.T.O.
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15. A longitudinal research design is :
UF Ages AFEUE AMHEHT T
(1) Studying multiple groups simultaneously
%3 TYEl H GHHNAS AT
(2) Collecting data at a single point in time
TH & T W SAHS! H HHET
(3) Observing participants over an extended period of time

U [qEaia G9amary ae SireE ol Seror

(4) Analyzing historical data
ufefs STTwhst &1 faLAuer T

16. Which research design investigates the cause and effect relationship
between variables ?
HIF-AT ATHI ARTHT T B G TAE-HROT GH= HI e Bl

g7

(1) Descriptive design (2) Correlational design
Ui AR HeHweTHE AR

(3) Experimental design (4) Case-study design
SN SATTehed HE-HAGT ADRT

17. Which of the following is not a primary purpose of a literature review
in research ?

=1 & & @i Ao aHieT ® e 3% T8l © 7
(1) To summarize the researcher's findings
SN & AT H HACHBL
(2) To provide a historical background of the topic
fwar 1 fceiiaes TodfH Y& H
(3) To identify gaps and justify the need for the study
SIG! B TEd BT A ST B AR Hl I S8l
(4) To present statistical analysis of the data

ATt o i fasaser awgd &

10
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47. The mean of the standard normal distribution is :

H9h IEMET S Bl H1e9 &

(1) Zero (2) One
T %
(3) Infinity (4) Fifty

e =

48. In Harvard style of referencing for a book, which among the following
comes in the last ?

fpdl g&a% &I BEs Aal H HaHd & & [ FeEaiad #§ @ @e-an
AT H AT B P

(1) Book title (2) Year of Publication
SEAE R I RC RIS & I

(3) Place of Publication (4) Publisher
JPIMT bT T 1D

49. Which of the following educational program is not govern by IGNOU ?
1 & | @9-ar Aferes FriET IGNOU zrT danfad 787 & 7

(1) Gyan Darshan (2) Gyanvani
M &S EIRCIL]

(3) Swayam (4) e-Kosh
Y -3

-

50. The word research is derived from the French word :

ae 9r=%, B9 == F 997 B ¢

(1) Recherche (2) Reserch
e R
(3) Ricirch (4) Resorce
R R
23 P.T.o.
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a4.

45.

46.

The type of ANOVA employed in analysis of Completely Randomized
Design is :

gl qrefesd ANEeed & [y H§ ugE G & AHR 8

(1) One way (2) Two way without replication
T SRy & R e

(3) Two way with replication (4) Three way
fcpicr & &1 IAH GIEGECR

Which of the following is susceptible with research ethics ?
Frefafed § @ &9 Agda Afdswar & ufaq Afq-dagasia 2 7
(1) Reporting of research findings

sy Freedt @ R

(2) Inaccurate application of analysis techniques

EESERICERIE N7 I SRR KRR

(3) Choice of sampling technique
yfcaae Al & ad-
(4) Faulty research design

Qe <y fEsga

In finalizing the thesis writing format which of the following would
form part of supplementary pages ?

AT T 99 F A w9 39§ FrAfaiad § 9 HF-91 T6 gl
% fewdr enm ?

(1) Appendices (2) List of tables and figures
Rfare e SR SRSt H g
(3) Table of contents (4) Conclusion of the study
et e A ey
22
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18. Which statistical measure describes the central tendency of a data set ?

H-AT Gt Ao Alhst & AT Hl Had WG H ao &l © 7

(1) Standard Deviation (2) Range
CINEAEERE] TR

(3) Mean (4) Variance
qe qqT

19. What does a p-value in statistical analysis indicate ?

it @y # p-Ae T SR wRar B 7
(1) The size of the data set
HAThSl & Y= H AR

(2) The probability of obtaining results by chance under null
hypothesis

L URETT & SR A Bl ATHRAD TG F I FHA Bl Gl
(3) The mean of the data set
SATHST & TY==IT HT HTHA

(4) The variance within the data set
SATHS] & TY=AT HT T

20. What does the term 'outlier' refer to in data analysis ?

SAtpst & fasqwer § ‘afewy wew’ == @& F1 o7 © 7

(1) A data point that lies within the expected range
il g o o € & A

(2) A data point that does not fit the overall pattern of the data
% AT foFg S Siiepel & a Yot & fbe 78 2m B

(3) The average value of a data set
HiFgT T H AT A

(4) The data point that lies between the first and third quartile
SAlhST dg=ad H Ued SR MY Fged® % A= @ A

11 P.T.O.
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Instructions (Q. No. 21 & 22 ) : Review the monthly website traffic 41. The principle of experimental design which helps in minimizing the
data for site xyz in the year 2023 provided in the data below. Choose bias is :

the correct answer for each question given below : B . .
39T (Jo Ho 21 do1 22) : FIm &g {Ru T a¥ 2023 # dAE< xyz & TR AT fHaid STt A & FAaH &3 H88 HIT ©

Hqieh Jq@Ee AR SATHST Hl THIET | A" &T T g 999 B (1) Replication
foe |8 ST gH
Monthly Website Traffic data for the Site xyz (Year-2023) :
xyz 9IgC & g AT J9EEe aaEa Siwsl (a9-2023) (2) Randomization
Month Visitors q@w
qEIT CH o (3) Local Control
January 3,50,000 wHg e
STE licati q domizati
February 3,80,000 (4) Replication and Randomization
B i iR ArgfeswiEmTT
March 3,00,000
qref 42. The minimum number of levels in an experimental design should be :
;}%I;l 4,20,000 Teh TR ATMRed § T Bl PAqH G&A 8|l = ey
May 4,00,000 (1) One (2) Two
O3 T &
June 4,50,000 (3) Three (4) Zero
KN SIS L
July 4,30,000
= 43. Which of the following experimental design is preferred when one of
August 4,70,000 the factors needs more experiment material than the second factor ?
SHITEA .
September 3.80.000 ST Rl TH HE Bl gAL BH Bl godl H AR T G H
et T AR Bl g, a Frefaraa # 9 fFE uEemes Afueey ®i
October 4,10,000 srefaeEar & SR ® 7
SAFTIT (1) Latin Square Design (2) Lattice Design
November 4,80,000 qfest  STeRed qifed Stféresed
NERSES . .
3) Split plot 4) Strip plot
December 5,00,000 ) p pv ) pf)
gy fewre wife SARSICE
12 21 P.T.O.
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38.

39.

40.

Which among the following can be used as post hoc test for means ?
fFrfefad & @ &9 @1l & e qRe-gih 9Ew H1 Il 8 7
(1) Run test

T e
(2) One Sample t-test
s sfcresl t-odereT
(3) Chi Square test for goodness of fit
Tenq 3G e % [T 1 & e
(4) Independent t-test
S RE M|
Which among the following is a referencing software ?
Frfafad § 9 HI9-91 T IHET digeday 8 7
(1) Canva (2) PubMED
el EECE
(3) EndNote (4) Sci-Hub
ESSHIC SIESEE|

Which among the following is not an example of plagiarism detection
software ?

fr=fafiag & @ o aifefcas = &1 991 T ar QiFedIY HT a0l
& 2 7

(1) Mendeley (2) Drillbit
EES] ERIEC
(3) Urkund (4) Turnitin
e et
20
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21.

22.

23.

The average monthly visitors (rounded) for site xyz in 2023 is :

g3c xyz & [0 A 2023 F HAifgs ofrad aLfw (qoited) fRas O ?
(1) 414165 (2) 414167

(3) 414168 (4) 414160

What was the percentage (rounded to zero) decrease in visitors from
April to May ?

AU | HE TH, A1 H UK (YT IX YOTRd) HHI Rl © 7

(1) 8% (2) 5% (3) 10% 4) 15%

The pie diagram given below, shows monthly expenditure of the two
families A and B on various items along with raw data of expenditure
as mentioned in the legend. What will be the ratios of radii of circle A
to B in constructing the pie diagram ?

= o g o™, =g & A itk & 9y v wE 9w &
gl A 3k B & 9% =09 & S90ar 21 98 oIR® & famier § g=r
A & B & Fogrel &1 Agua @& 8rm 7

(1) 9:10 (2) 100:81 (3) 10:9 4) 1:1
e s —
Family A | Family B
|
CIREIII A i l'lftEIII B
| O Food HIst
O Food $rae | (%. 2700)
i O Cloth F%
E Cloth F9% {%. 800) |
. (%. 500) |
| = 0 Rent T |
| | | O Rent famma
Tl |' (5. 1500) 1% 100)
\ | education| " / [ Education f3re
e |/ / O Education R (5.1800)
H 15%
7] aom y (% 2000) Rs—-
| | T | s O misc. fafaer (.1800) |
] |ClolhI (5. 2500) |

13 P.T.O.
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Instructions (Q. No. 24 & 25) : Review the given figure which shows the
manufactured vehicles by two companies A and B during the year 2015
to 2020. Choose the correct answer for each question given below :
s (Jo Ho 24 T 25) : Fuar A= Ru & 7% e a¥ 2015 4
2020 % IE & FUFAET A ik B @y ST aredt @i gerar &, @
gHiEm FHIve | J= @Y T gd% 99 & fu @@ I g |

Number of Vehicles Manufactured by Companies A and B during
2015 to 2020

400
335 336 337
350 +—310—m—Mt—x —3I—mg—
300 LI | |
233 234 235
250 205 206 207
No. of Vehicles . _/W
Manufactured =g Automabile Company A
= = @l= Automobile Company B
100
50
0 T T T T T 1
2015 2016 2017 2018 2019 2020
Year
2015 & 2020 3 3R FF A o B EW
faffia at &t de
400
° 335 336 337
350 |30 g S g s —g
233 234 235
250 205 206 207
d j:; ——difdiagd B A
= &= iRy s B
100
50 ’
0 i , . . g 4
2015 2016 2017 2018 2019 2020
T

14
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36. Match the given study designs in Column-I with Column-II and choose

correct option :
-1 § 3 T eremge orfyeedl &l & -I1 9 fard ok |9 fasew
A

Column-I

q+-1

A. Cross-sectional

B Y

%Y Pl

Case control

Cohort

HIETS

Code :
T :

(1)
(3)

A-(ii),
A-(iii),

B- (i),
B- (i),

C-(i)
C-(i)

Column-II
e er-11
(i) Data comes in future.
Hiws Ao 7 fra 2
(ii)) Data comes at present.
Hips T § fd 2

(iii) Data comes from past.

Hiws @ 9§ B

(2) A-(ii), B-(i), C-(ii)
(4) A-(), B-{i), C-(ii)

37. What is full form of USB as used in computer related activities ?

Frex @ defad TiaareEl § Iu 9 ard USB &1 gof &9 41 8 7

(1)

(3)

United Serial Bus

TAEee RG99

Universal Security Bus

Fiade R s|

(2) Ultra Security Bus
el R =9

(4) Universal Serial Bus

Fiada AT 9

19 P.T.O.
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33.

34.

35.

Among the following sampling methods, which one falls under the
probability method ?

fr=fafRaa ufaez= fafet & 9 H9-ar g9rear & fy & ofaeig omar 8 7

(1) Judgement sampling (2) Quota sampling
Frofg sifcrere HI Hferera

(3) Cluster sampling (4) Convenience sampling
NERIRERE] S IERIIINERE]

The number of possible samples of size 2 out of a population with size
5 using simple random sampling with replacement is :

qicRId & 91 93Xd deiesd giad_ ®l IUANT HXeh AR 5 Jw«l
SHEE § @ TR 2 B 9uEd Gwifad Afqestt & dem §

(1) 25 (2) 20
(3) 10 (4) 12

The sampling method generally used for gathering information on
rare events is:

gAY g UR SRl WS B & [0 Frradn uiderme Gt @
SYIRT fRaT ST ®

(1) Simple random sampling
W qgfesd gfoeas

(2) Stratified random sampling

T UGBS =
(3) Snowball sampling
A (ENtq) e
(4) Systematic sampling
hiHeh SHferera

18
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24. Difference between the average vehicles manufactured by the

25.

26.

companies during the year 2015 to 2020 is :
g¥ 2015 & 2020 & IR AT g0 FHT aedl & ofida &1 Sfax
g

(1) 205.5 (2) 105.0
(3) 103.5 (4) 107.5

If G, and G, denote growth rates of Companies A and B from 2015 to
2020 respectively, then which of the following is true ?

af& G, NX G, A 2015 4 2020 T HHFEl A R B &l gfa ax &l
e B, @ et # @ sie-ar ' ® 7

(1) G,> G, (2) G,<G,

B) G, =G, 4) G, <G,

The marks of 100 students of a class revealed that about 80 students
scored below 20 marks, 10 students scored between 20 to 80 and
remaining scored between 80 and 100 marks. Which of the following
statements is correct for such data ?

T% HEM & 100 BET & 3l § IaT Il 6 @ 80 BT « 20 € HA {d W<
f, 10 BET 3 20 @ 80 & e &% W R Sl AW 7 80 | 100 9 F
3 o fpu) XY eihel & fore ffeRag & @ -ar e @@ R ?

(1) Mode of the data will be 30
AT & IgaH 30 B

(2) Skewness of the data will be negative
SATHST &1 RO FOIHS  EFT

(3) Kurtosis of the data will be equal to 3
TS 1 FIRA 3 B qWEAL BN

(4) Skewness of the data will be positive
SATHST &1 oSO a=qs e

15 P.T.O.
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27.

28.

29.

The vertical axis in a graph is known as :

% o SHeaiegy 3787 &l ST SIdr 8

(1) Reference Line (2) Abscissa
B @ NESE

(3) Ordinate (4) Double ordinate
affgse gel Affee

Find out the median of the given data set :
11, 12, 14, 16, 16, 10, 18, 19,9, 20
feu wu offdweT @==" HI AAH TG B

11, 12, 14, 16, 16, 10, 18, 19, 9, 20
(1) 15 (2) 16
(3) 13 4) 17

The digital repository of theses and dissertations submitted to

universities of India is known as :
AT & fagaiaenei #§ 9&ga Y gl ud ene e & fSived s
H ST ST 8

(1) Shodhganga (2) Shodhsindhu
ST SNy
(3) Shodhgangotri (4) Vidwan

T CE]

16
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30.

31.

32.

Which among the following pair is not correct ?
Frfafed o & $Hi=-a1 g9 qer q8l § 7
(1) Regression — Galton
SRR — e
(2) Correlation coefficient — Pearson
qedsy T — e
(3) ANOVA - Fisher
T - R
(4) PCA - Gauss

JiET - |

The checklist used to improve transparency in systematic reviews is :

Fgieed gHemeAl ¥ gEiRidr & 98d¥ g9 & [T IYAFT Bl A arell
Apferee B -

(1) META (2) COHEART
3T WS

(3) PRISMA (4) MAXIME
JITRSAZTHTAT THIEFISTIRIR

The measurement scale with an absolute zero is :

e g arel "o ®

(1) Ratio Scale (2) Interval Scale
RRIGEEINE FTT AT
(3) Ordinal Scale (4) Nominal Scale
Shieh HTII GUEERCIESTI
17 P.T.O.



